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According to Jean Piaget children build their knowledge through

1. Learning and reinforcement
2. Encouragement and Rewards
3. Observation and Motivation
4, Exploration and Experience
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This developmental stage, also called as ‘chattering stage' because
children keep on taking about something or other.

1. Boyhood / Babyhood
2. Early childhood

3. Late childhood
4.

Early adolescence
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3. The people who are called as 'Social Smart' are having this type of
intelligence.

1 Intrapersonal intelligence

2 Naturalistic intelligence

3. Verbal language intelligence
4

Interpersonal intelligence
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4, The variable which is under the control of experimenter at the time
of conducting experiment is.
1. Independent variable
2. Dependent variable
3. Experimental variable
4, Intervening variable

EErKo ToeY) WA shSoS” &od S50
1 leGInele

plefateltaINlele)

(& KSB0

L

§S§§{5€50



Ravi neither likes to do Home work nor wants to be scolded by his
teacher — the conflict here is

1. Approach - Approach

2. Approach - Avoidance

3. Dual approach - Avoidance

4, Avoidance - Avoidance
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In the beginning children's language development starts with

babbling and gradually turns into sentences — The developmental
principle involved is.

1. Development proceeds continuously

2. Different developments proceeds with mutual relation
3. Development follows uniformity of patterns

4, Development is an interaction
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The factor that plays a vital role in Social development of a person
IS.

1 Maturation
2 Heredity

3. Environment
4

Learning
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The intelligence required to understand letters, digits, symbols,
pictures, numbers and words is.

1. Mechanical intelligence
2 Verbal intelligence

3. Abstract intelligence
4

Social intelligence
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10.

The virtue called 'Ability' is to be achieved by the person at this
psycho social critical situation

1. Trust vs Mistrust

2. Industry vs Inferiority

3. Generativity vs Stagnation

4, Integrity vs Despair
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A person even though he didn't became a collector was happy that
his friend became a collector and felt that he also became a collector
— defense mechanism here is

1. Sublimation

2. Projection

3. Rationalization
4. Identification
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11.

12.

The tool that is used to measure Real and Ideal self concepts of a
person.

1. Semantic Differential Technique

2. Ravans Standard Progressive Matrices
3. Thematic Apperception Test

4, The Vineland Social Maturity Scale
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Conditioned, unconditioned responses are under the control of

1. Central nervous system

2 Cognitive nervous system

3. Autonomous nervous system
4 Periferal nervous system
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13.

14.

If a person who has learnt to play harmonium wants to learn to play
piano, then the type of transfer is

1. Positive transfer

2. Negative transfer
3. Zero transfer
4,

Bilateral transfer
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In an experiment conducted by Ebbinghaus on forgetting using
meaningless words, the percentage of forgetting by the Subject after
20 minutes
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1. 2%
2. 3%
3. 4T%
4. 66%



15.

16.

Latha remembered that the sum of the angles in a triangle as 180° by
drawing different triangles and measuring their angles. This type of
memory is

1.

2
3.
4

Passive memory
Active memory
Rote memory

Associate memory
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According to Maslov, the lower order need is

1.

2
3.
4

Need for self actualization
Safety need
Love and belongingness need

Esteem need
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17.

18.

One of the following does not belongs to affective domain

1.

2.
3.
4.

Precision
Receiving
Characterization

Organizing

808 TAS° graEIY FoKSNILH oS8,
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Wrongly mentioned statement

1.

2.
3.
4.

Learning is purposeful
Learning is a goal directed activity
Learning is a transferable process

Learning stops at a particular age
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19.

20.

Santhosh is scared of his father, who punishes him without any
reason. So, if any of his friends invite him to their home, he refuses

to go as he thinks that their fathers also punish him. This is due to
1. Stimulus generalization

2 Stimulus discrimination
3. Extinction
4

Spontaneous recovery
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According to Vygotsky, the lower order mental function
1. Comparing

Analysis
Synthesis

A W

Reasoning
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21.

22.

The Psychologist explained his theory, after conducting several
experiments with Bobo dolls is

1. Kohler

2. Chomsky
3. Bandura
4. Freud
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If previous learning impair the retention of newly learnt material,
then it is

1. Proactive inhibition

2 Retroactive inhibition

3. Repression

4 Abnormal forgetting
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23.

24.

This counseling method which was constructed on the basis of
counsellor’s wide experience, skills easily solve the problems of the
counselee

1.

2
3.
4

Directed counselling
Non directed counselling
Eclictic counselling

Mixed counselling
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‘Enrichment’ is the educational programme of

1.
2.
3.
4.

Mentally retarded children
Gifted children
Hearing impaired children

Learning disabled children
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25.

26.

The correct statement with regard to performance of an Activity.

1. It should not stand as a challenge to the students.
2. It should be prepared to facilitate the students to perform on
their own.

It should not encourage mutual co-operation among students.

4, Students themselves arrange the facilities required to them.
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The correct sequence of experiences from concrete to abstract with
reference to Edgar Dale cone of experiences

A) Direct purposeful experiences
B) Dramatizations

C) Contrived experiences

D)  Field visits / study tours
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27.

28.

Child rights protection day

1. October 20"

2 October 08"

3. November 14"

4 November 20"
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Weightage given to children participation and responses in formative
assessment is
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1. 30%

2 40%
3. 20%
4 10%



29.

30.

One of the following is not the concept of NCF - 2005 about Social

Sciences

1. Formation of deep conceptual understanding

2. Critical response on Social issues

3. Concern on different deprived groups should be above the
content

4, Teaching of Indian History must not be linked with world

history.
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The sequential order of steps in the learning process.

A)
B)
C)
D)

Fixing of objectives
Successful reach of goals
Formation of Need

Adjustment of overcoming the obstacles in the process of
achieving objectives
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61.

62.

63.

64.

English — Paper —I — Set - 4

| don't want to go to a restaurant; ............ , we can't afford fit.

Choose the correct linker that can complete the meaning of the
sentence above.

1 later

2 besides
3. hence
4

in spite of

Mohan wants to lie down for an hour.
The meaning of the phrasal verb 'lie down' is:

1 remove
2 take rest

3. observe keenly
4

turn into

Could you lend me your book?
In the sentence above, 'could’ is used:

1 as the past participle
2 to express politeness
3. as the past tense of ‘can’
4

to express obligation

Choose the sentence that does not have a noun clause.

1 what you eat is not good for you.

2 Hari said that he was busy.

3. Hari was very happy.

4 Hari said that he had finished his work.



65.

66.

67.

Choose the relative pronoun among the following.

1 that
2. it

3. this
4 what
Oh, shut up.

Choose the correct question tag to the sentence.

1 will you ?

2 should you ?
3. won't we?
4

are you?

Choose the sentence with a non-finite clause.

1. Born in London, he became the citizen of the United
Kingdom.

2. He was born in London and became the citizen of the United
Kingdom.

3. He was born in London so he became the citizen of the

United Kingdom.
4, He became the citizen of the United Kingdom because he was

born in London.



68.

69.

70.

71.

Choose the correct "Yes / No' question.

1 Do you know where is she live?
2 You know where does she lives?
3. Do you know where does she live?
4

Do you know where she lives?

My house stands .............. all the other houses in the street as it is
big in size.

Choose the correct compound prepositional phrase to fill in the
blank

1 in spite of
2 apart from
3. in case of
4

due to

) asked to stay at home, | would not accept it.
Choose the correct verb to fill in the blank.

1 was been
2 am
3. were
4

have been

| was not trained enough for the game.
'Enough in the sentence above is:

1 an adverb

2 an adjective
3. a conjunction
4

a participle



72.

73.

74,

75.

She had hardly finished the meal ............

hungry again.

Choose the word to complete the meaning of the sentence

1
2
3.
4

than
then
when

while

Choose the sentence that does not have an adverbial clause.

1
2
3.
4

As the roads were not good, he preferred less luggage.
He preferred less luggage as the roads were not good.
I have known that boy since 2005.

Since | wanted to take rest, | applied for leave

Choose the noun phrase with the correct order of adjectives

1
2
3.
4

A house stone built big
A big stone-built house
A big house stone-built
A stone-built house big.

"My brother has gone to Chennai."

........ to Chennai"?

he has gone
has he gone
did he go

had he gone

she started feeling



I like singing.

In the above sentence, 'singing' is:
1 a present participle

2 a gerund

3. a past participle

4

a model verb

When an action takes place before a point of time in the past, the
action is expressed in:

1 the present perfect tense

2 the past perfect tense

3. the past simple tense
4

the past continuous tense

Sindhu said to Ganesh, "Are you fine?"

The conjunction that can be used to change this sentence into
indirect speech is:

1 whether

2 that

3. who

4 when

Ramu is an honest person. He believesin ......... honesty.

Choose the article that fits the context.

a
an
the

A W npoE

No article is needed



80.

1

2

3.

4
[81-83] -
81.

Choose the conjunction that can be used to write a compound
sentence.

not only...... but also
as if
scarcely.....when

as long as

Read the following passage and choose the correct answers to
the questions [ 81 — 83] given after

What needs to be set right is our approach to work. It is a
common sight in our country of employees reporting for duty
on time and at the same time doing little work. If an
assessment is made of time they spent in gossiping, drinking
tea, eating "pan" and smoking cigarettes, it will be shocking
to know that the time devoted to actual work is negligible.
The problem is the standard which the leadership in
administration sets for the staff. Forget the ministers because
they mix politics and administration. What do top bureaucrats
do? What do the below down officials do? The administration
set up remains week mainly because the employees do not
have the right example to follow and they are more concerned
about being in the good looks of the bosses than doing work.

According to the writer, the employees in our country are:

1
2
3.
4

punctual but not duty conscious
not punctual, but somehow manage to complete their work.
dedicated to their job only

not qualified



82.

83.

84.

85.

86.

According to the writer, the administration in India is:

1
2
3.
4

by and large effective
very strict and firm
affected by red tape

more or less ineffective

The word 'assessment' means:

1
2
3.
4

enquiry
report
evaluation

summary

A letter to a District Collector should be written:

1
2
3.
4

In a courteous style
in an intimate style
In a conversational style

in a colloquial style

Grammar translation method does not:

1
2
3.
4

give importance to grammar
encourage learning through mother tongue
help learn English grammar

enhance the learner's communicative skills immediately

The dictionary that can be used at the primary level is :

1
2
3.
4

a thesaurus
an Advanced Learner's Dictionary
a picture dictionary

a dictionary of phonetics



87.

88.

89.

90.

The following is not true regarding English:

1 It is the language of travel and tourism.

2 It is the national language of India.

3. It is a major language of media and publication.
4

It is a major language of education.

The following was the chief behavioural Psychologist:

1 Skinner

2 Noam Chomsky
3. Kafka
4

Watson

The following is not a method to teach reading

1 the selection method
2 the syllabic method

3. the phonic method

4 the alphabetic method

An overall plan for the orderly presentation of language material is
known as:

1 An approach
2. A method

3 A technique
4 A game



91.

92.

KBS TR0 - D8 - 1- &S - 4

On the number line, the value of (—3)x3 lies on right hand side of

(—3)%3 Do VogrBpp Baod DoPgHd HEFYH Goeod

> w e

—4
~10
0
9

If “x’ is an integer other than —1 and 1 then match the following :

X 38 —1 00050 1 0S5enS0ed JPHops @onS ($08 T

ATIPATOINVINDOR

Column-I
(@ x=(-1)
(b) 1=+x
© =)= (=x
d x=(+1)
1. a—4,b—-3,c-2,d-1
2. a—3,b—1,c—4,d-2
3. a—2,b—4,c-1,d-3
4, a—1,b—-2,c-3,d-4

Column-II

1. X
2. 1

3. Not an integer (:ygéo% 5°¢)
4

(=x)



93.

94,

95.

The following expression shows that the rational numbers are
associative under multiplication

808 B3 os’ eSS vopges® KBS STy STSEEoR)
IR

2 (4 -5 2 4 2 -5
1. —X| —X— | = | —X— | X| —X—
3 \7 7 3 7 3 7

If /5625 = 75 then the value of +/0.5625 ++/56.25 is

5625 = 75 90235 /0.5625 +/56.25 JenS

1 82.5
2 0.75
3. 8.25
4 7.5

Convert 9806 grams to kilograms
9806 |ms0o 3§ raved® Srgym

1 980.6
2 98.06
3. 9.806
4 0.9806



If % iIs converted into a fraction of denominator 12 then its

numerator is

3 e
2 DI TS0 12 1 3370 (FPADr &3 HHo &), ©I0

12
24

> W npoE

If we write 0.2 in the form of * then the value of p+q

q

0.3 5 Ep 5508 (FPaSm P+ dews

4
9

13
14

> W npoE

A shirt with marked price = 800 was sold at =~ 680. The rate of
discount allowed on the shirt is

28 5757, (9503 o 800 0w @5y Iv T 680.

@A €3 TSP VHOVS TS Lo

1 10%
2 15%
3. 20%
4 25%



99. The scale of a map is given as 1 : 3000. Two cities are 2cm apart on
the map then the actual distance between them in kilometres is
2.5 5755 B0, oo 113000, S7¢SS° Dotk dyeTe S5
ESPE0 2700.2. 0T DO HYETR Koy Aesrso 8.20.08°

1. 0.0006
2. 0.006
3. 0.06
4. 0.6

100. Theratio 3: 8 is equal to
3:8 3 3:2{)@;5 PONLNIS DIV

1 3.75%
2 37.5%
3. 0.375%
4 267%



101.

102.

In an isosceles triangle, one angle is 70° then the other two angles
are of (i) 55° and 55° (ii) 70° and 40° (iii) 60° and 50°
In the given options which of the above statements are true ?

1. (1) only

2. (i1) only
3. (iii) only
4. (i) and (ii)

2.5 30050 (B20208" 2.5 560 707 e00S AOS Tok Seren
(i) 55° 508030 55° (ii) 70° 558032 40° (iii) 60° 508030 50°
8ocs 33 mﬁ)‘)s"oés 2 PISTO8 B0 2D

L (i) Sl

2. (i) s

3. (i) s
4. (i) 50805 (ii)

In the word “MATHS” which of the following pairs of letters shows
rotational symmetry
“MATHS” &3 %508 [@5oes FRS 70 @0k w500 B

1 Mand T
2 Hand S
3. Aand S
4 Tand S



103. The angle between North and East, the angle between North and

104.

West are

1 Complementary angles
2 Supplementary angles
3. Both acute angles

4 Both obtuse angles

ST S0 SD) DLYO M SST O HE5T
B OB bdo)é Eeroen

1.
2.
3.
4.

IeSs esoen
QOSE Seen
B> eo)§eren
Bo&kr ¥ Sferoen

In a square ABCD the diagonals meet at point ‘O’ then AAOB is

1
2
3.
4

Isosceles right angled triangle
Equilateral triangle
Isosceles triangle but not right angled triangle

Scalene right angled triangle

ABCD 5¢581308° Sgen £t 07 5¢ 9080508 AS AAOB 2.5

1.
2.
3.
4.

©028%3 DIV (@80

QL2 (Babzso

0028’3 (Yez0 57 DI (Babeso
008’y AW (B0



105.

106.

107.

The cost of fencing to a square park of side 500m at the rate of ~ 30
per meter (in rupees) is

500 2. FoBOKO 28 SEBIPS P, ST K0T I
WD T 30 S0&S ooy i) (8 ©F)

1 15,000
2 30,000
3. 60,000
4 75,000

The change in the volume of a cube when its side becomes 10 times

the original side is

1. Volume increases 1000 times

2. Volume increases 100 times

3. Volume increases 10 times

4. Volume increases L times
1000

2.5 3050 &Y, 20z 10 Bexy IDIYE T 0558 Sre308°
5?650)

1. 550557820 1000 Téa LK.
550557830 100 T2 DX,
3. 550557690 10 Tex LK.

N
-g(

4.

-g(

OB e30 1 Bew OL.
1000 ©

The circumference of a circle with diameter 14cm (in centimeters) is

TG0 14 0.0, ™ Ko $)B0 Bo¥), Depfod 20.0.08°

1. 154
2. 88
3. 44
4, 22



108.

109.

110.

If the mean of 24, 29, 34, 38, x is 32 then the value of ‘X’ is
24, 29, 34, 38 08030 X © J0°38 32 9003 ‘X’ Jews

1 25
2 32
3. 34
4 35
The fourth class interval for a grouped data whose first and second

class intervals are 0-5, 5-10 respectively is.

0-5, 5-10 3x¢563, BOES SEXE wosoreom Ko SEEYS Saro¥od”
45 SBKS 9050

The height of a rectangle in a histogram shows that

1 Width of the class

2 Upper limit of the class
3. Lower limit of the class
4

Frequency of the class

FIS Do BYSHLE FEJH w-DOBH

1 SERD 3&5@3{3

2 SEKD K0S 93
3. STRB AIOS 93
4 SEKD 25":63@(650



111.

112.

113.

The marks obtained by 20 students in a mathematics test are listed
as: 8,1, 2, 6,5 5/0, 109 7 8 0,5, 3,8 10, 10, 7, 8, 4.

The number of students who obtained marks more than or equal to 5

S

2.5 Ke3& 9855° 20 5008 Iorges FoAS Srey e HadFor
3%0a32 1 8,1,2,6,550,1,9,7,80,5,3,8,10,10,7, 8, 4.

D08 5 Bor W0BTOE W) S ISy, e FOBS I 00

1
2
3.
4

-
10
13
16

Fifteen added to thrice a whole number to get 93 then the number is
o8 Zgycgoé;ﬁoo BE). 3 ngﬁs 15 Sendre 93 ;5{’313‘6 es 60@5

1
2
3.
4

26
28
75
78

One of the following equal to ‘1’ is
55808 TAS° ‘17 § BITPSPIO

1.
2.

3.

5°+ 6%+ 7°
5° % 6° x 7°
(6°—5°)><7°

(7°-6°)x(7°+6°)



114. The human body has about 100 billion cells. This number can be
written in exponential form as
ISP ¥0T0E" 5> 100 DO SeTen GI)0w.
e VOPFRD PPSETHOS” SEEHSS
1. 10°
2. 10"
3. 10"
4. 107



115.

116.

Paper-1 Set- IV Maths Methodology

One of the following is not a main mathematical resource

1 Maths Library

2 Maths Laboratory

3. Maths Club

4 Maths Question Paper

59308 TS So0pgFoS KIS $HH TS

1 Kedes (Kogreodvo
2. KBS PErEFe
3. Ke3 )

(3p]
4 KedS (PA)dE0

One of the following is not a child-centered method

1 Activity based Method

2 Heuristic Method

3. Lecture Method

4 Project Method

308 FUS° s Bol@E)S LA A8
() @

1 §°)e3°§c5°6 Zage‘ié

2 @35:183 WS
(o]

3. GDIGRD DG

4

@

S 58

@



117. One of the following is not related to “organization of curriculum”

1 Inductive Method
2 Topical Method

3. Spiral Method
4

Concentric Method
308 TS’ ITYDETPY JgILHIH Bowoo BAG

1 SUBIRRL
2 885 D
o [ev]
3. RO DS
[on]
4 DESoES HES
[on]

118. The Mathematical value that does not belong to Munnik’s

classification

1 Utilitarian value

2 Information value
3. Preparatory value
4

Cultural value

;53323‘)))5 ;5§\§683§3 00200805 Kedes §)CJ°§ZJen;5

1. @BrBS DS
2. PSS LSS
3. 8B dens
4. @*’oé@e‘% RISON



119. One of the following shows External correlation of mathematics

1 Maths — Chemistry

2 Arithmetic — Algebra

3. Maths — Percentages — Profit and Loss

4 Statistics — Probability

308 TUS° A KAGIS iy HIPROROGTR) MFAR0E
Ke30 - Bro0ITR0

©05Ke3B0 - DesKedso

Ke3BO - Foren - TrgiSaren

FOPFETIN0 - DOFHIE

==

120. Advantage of an Essay type question

1 More items can be tested

2 More reliable

3. Objectivity

4 Possibility of freedom of expression
TGO (D) BooY), 2.8 (HETES0

1 VO3 woFen H8305EA8 JoPB0d
2. S IKIIHS SOAG0e008

3. DA 3?895 [=Tolhbloln)

4 wé?oosisl)& 955 ¥0



EVS - PAPER-1-SET -4

121. The nutrients that are necessary for the formation of new cells and to
heal wounds in our body

1. proteins

2. carbohydrates
3. fats

4, water

D3 ¥050S° FESeres SArH SOHErAS, MOAIres Sr)erds
SOEFON PAsTen

1L (SSw

2. sEyFTESw
3. (§Jge0

4. B

122. The special dance performed by Gonds by decorating peacock
feathers on head is

1. Gussadi
2. Kadhakali
3. Lambad
4, Kuchipudi

FPochH AdEHen Sup IO H0Tred” (HBFE0NT ©e05BoSB
TR DoRarad Sysgo

1. [ SEygTe
2. 50789

3. Sletle
4. 5908



123. The game played by two people only is
1. Weight lifting

2 Basket ball

3. Skipping

4 Boxing

3D IS T ese
L Jond dxok
o) SerS
RyoR

- W N

zﬁé“)oﬁ_

124. The details of endangered species is published in
1. White paper
2 Red data book
3. Green data book
4

Brown book

0SB0 P BTEO VO (P80 YT

L FsHGo
2. B& deren§
3. S @erenk
4. &R F



125. Snake receives sound vibration through

1. ear

2. tail

3. skin

4, tongue

5 B TYor @e8EY, 0N K800

1. B
2. &%
3. 756&0
4. JP0E

126. Mark the correct statement about wheat crop.
1. Yielding is high when cultivated in Rabi.

2. Yielding is same when cultivated either in Rabi or in Kharif.
3. Yielding is high when cultivated in Kharif.

4. Wheat is cultivated all over India.

R0 ot KdoD BB 57§l Ko90s0d.

L DS FRHBAHE0 S0S )N BB SHo8.

2. 5D 5850 pFeS° aB5ES BXEAN0B.

3. pO5S° FKHTANE0 IoS 9O BN SH0d.

4, RS0 arSSBIS0SET FRITRD.



127. Pick the fungal disease

1. Citrus cankar

2. Red Rot of sugar cane
3. Rabies

4. Polio

800G R KH0S0s.
L S soss

2. B&oeS e Wb S
3. oA

4 FOB

128. The modern technical instrument used to detect cyclones in advance

1. Barometer

2. Anemometer
3. Radar

4. Windmill

SO DO TER S0 DKL €3¢OI JoSAE HOET0
1. CRIONACIN Y

2 I8
3. oows

4 G



129.

130.

lodopsin helps in

1. Identification of colour

2. Formation of sharp image
3. Identification of smell

4, Balancing the body

OOV GHBTKO

1. 508 MHYouEdE

RYRDS (HADoere JYTHEAS
PRI K28085e8

WD

oo n;so@o;%@éﬁ &0

Protein deficiency disease

1. Kwashiorkor
2. Marasmus

3. Obesity

4. Anaemia

FPES S0 So3 SOR 40

L syaer,S
2. 330"26&5

3. 65°e>5°oﬁoe§oso
(o]
4. O5rsS



131. Example for renewable energy resources

1. Kerosene

2. Solar energy
3. Coal

4, Natural gas

:g)sci;gao:azaa FASSHODH &TI5e

1. 85535
2. 838
3. EONa

4, B G50

132. The substance that changes Red litmus to blue
1. Grape juice
2 Lemon water
3. Soap water
4 Olive oil
DBy DR NOTOKID SrdyKe HTrYo
1 (&% 80
2 BN 3 550
3. 220) DS
4 30 esand



133.

134.

The disease caused by Helminthes is
1. Kala-azar

2. Elephantiasis
3. Anthrox
4. Tuberculosis

208 8° 0088 290 S0 5i5) g0

1. SO )

2 O DOLIATVR
3. «olgf)

4. 505

The pollutant not found in the vehicle exhaust is
A) So, B) PAN C) Co, D) C|2

FPTO 508 IS PRS° JewSE SenAso

A) So; B) PAN C) Co, D) Cl,
Correct answer is

DO JXdegedo

1 BandC
2 Cand D
3. Band D
4 Aand D



135. The cause for minmota disease

136.

1.

2.
3.
4.

Silver
Copper
Mercury

Iron

A JET° s°§®§ 3830

1.

Ll

J06
o°R

o ulnforsle
Qa0

The chemicals that are used to sterilize water

1.
2.
3.
4.

Oxygen and Hydrogen
Oxygen and Chlorine
Chlorine and Ozone

Oxygen and Nitrogen

RO (EWES0 FAerdd GHBPACT SICHS DT

1.

N

esdyms $00050 TE RS
esdjms 500805 §08
5§60 $o0aso 48°%
esdjms HBAw =S



137.

138.

EVS-SOCIAL - 2358 -1-28 -4

River Krishna originates from

1.

2
3.
4

Mahabaleswar

. Nasikatrayambak

Brahmagiri Hills

. Tibet

§Q)%(6& =S &geo

1.

W

;So:ﬁaaér‘{sdo
JPVT° (050250
@ A0 Foken
3BES

The land form lies between Eastern and Western Ghats is

1.

2.
3.
4.

Eastern plains
Western plains
Deccan plateau
Thar desert

S8, DB S ;536.55 &) 255"26036??3;533

1.

W

EFE)BE oS0
$B)50AE Joorso
55350 DL
&5 &8



139.

140.

The idea of “one Sect, one God and one religion for all” was
preached by

1. Swami Vivekananda

2. Swami Dayananda Saraswathi

3. Narayana Guru

4, Bhagyareddy Varma

‘050000588 28 Ho0, 28 5050, a8 BHE’ OF) PSS
(DTPE0 DS SoSHKY)

1. g1 IS0

3:32)3 A5TTOLS DTS

OO0 Ko

L

25"7%8% ;56&

The leader who demanded the British Colonial Government to make
a law for free and compulsory Education for all children of the
country

1. Bal Gangadhar Tilak

2. Surendranath Benarjee

3. Dadabhai Naurojee

4, Gopala Krishna Ghokhale

3¥08” Hpoostr &NS, Ao 5 FOBIFOM® $E0 BoHHHA
D3 S0 (HLE) 505 TAHHE

1. LPOKOMES HF
2.  losd B
3. oo I6°R
4. Rrosy A3



141. Steam Engine was invented by

1. Edward Jenner
2. James Cook

3. Micheal Adams
4, James Watt

esBFESE" SET AHO(ER) EOA"H)TH
(NN

B0y ©F

DES e

B0y &

W

142. The winds blow from South-West Europe to the East Coast of
America is

1. Trade winds

2 North East winds
3. Western winds

4 Polar Winds

S8 DE P08 SDBT ErEBTIE I reven
1. 5"55"5 POISFIOL)
éa-s°€6§ DTN

:3%‘);53 DTN

e N

BP0 DST



143. Person who studied in Nalanda monastry
1. Itsing
2. Fa-hi-an
3. Hu-en-Tsang
4,

Megasthanese

SO 2)@5?56065’8 DESGAGRODS D

1. 38)oh

2. FTOETS

3. vg-oins-ooR
4. DRI

—0

144. The Lion capital in Saranath represent the power and majesty of

1 Shishunagas

2 Guptas

3. Mauryas

4 Nandas

FETESD vorspso Do ¥38, oo (985
1. DO

2. Koen

3. ;53°Ci>§e>o

4. Socven



145.

146.

EVS Methodology - PAPER-1-SET -4

According to L.L. Bernard "Hydrosphere” belongs to this type of
environment.

1. Social

2. Physical
3. Cultural
4, Biological

6. IS, BoYS (95750, ‘BerstE0’ D800 B 5AE FoHIO

1. JPOWE

2. AN

3. OB
4. 83

“The pupil classifies matter as living and non-living’ - This belongs
to the following objective

1. Interest

2. Attitude

3. Application

4, Understanding

o5 DO BPew, AJJHeor SPEOoHR’ - 3® B+ (§08
OEFRNI B020H0VSE.

1. OTAlVIW

2. 290

3. AKX O
4. [ONTORLN



147. This committee / commission has referred that Environmental
studies I and Il are to be taught separately.

1. Eswari Bai Patel committee

2 Indian Education Commission 1964-66
3. Mudaliar Committee

4 National Education Policy 1986

28070 degso |, 11 o I S8oTred s E1S
3%@05)0@

L e¥%burdd 986 5206

2 F0G050S AEIEAS EWAS 1964-66
3. 805 8

4 0% Aoy IS0 1986

148. The demerits of topical method are completely prevented in this
method of curriculum organization.

1. Logical method

2. Integration method

3. Spiral method

4. Unit method

DIPYHEPPE SgIQETES” RO HEBE o) e $58S”
(<) o P [e>]

NECIeALwieb Y

L ool 9Ed
(o]

26?:’>J§§ DED

o @

éao)e :ag@

L

A0S 259



149. Model that can be used to show the arrangement of teeth in the
mouth.

1. Scale model

2. Map model

3. Demonstration model

4, Working model

SRS’ 508500 9OED YLK TEEAS SHHT®,
L e SHho

D& SRT°I°

BEHS SSrI

e N

88 S5

150. The type of evaluation useful to know the learning abilities and
weaknesses of a child is.

1. Placement evaluation
2. Formative evaluation
3. External evaluation

4, Summative evaluation

DTG IS FSHTYen, 22055500 BeowETSerde ERBITKIS
w@agoﬁo

1. S JoBe HHOPg0ES0
@] Q

2 65°i)°e§&§ ;535°e7°§o§€60

3. abg\ieﬁ $5JF°QJ'°§O§?50

4 DOBOS ;Swer:go§:6o



